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Relevant daily pay (RDP) vs average daily pay (ADP) for bereavement leave, sick
leave, domestic violence leave, unworked public holidays and alternative holidays

Use RDP in the first instance Things to consider if you have a

choice but are unsure of whether

Is it impossible or impracticable to determine the employee’s RDP?

¢ You must use RDP unless the employee’s daily
pay varies in the pay period or it is not possible
or practicable to determine RDP. In these 2 situations
only, you may (but don’t have to) use ADP.

Deciding whether RDP is not
practicable or not possible to
calculate for that employee’s
situation

to choose ADP:

Use your judgment carefully and consistently.

Look at the employee’s work pattern and see if you
can work out what hours they would have worked on
the day. Be sure to include overtime in RDP if you can
see that the employee would have worked overtime
on the day and if so, how much.

If the employee gets a daily commission or incentive,
see if it is more or less consistent from day-to-day or
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Use ADP

Does the employee’s daily pay vary in the
pay period the leave/holidays falls in?
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- Even if RDP is not immediately obvious, if thereisa reg,ular pattern you can use to dlet«-armme k v
this doesn’t mean it is impossible to calculate. RDP. If you can’t work out how much commission or
i incentive to assign to a particular day, you may want ( ) (
» Don'tjust assume that you can’t calculate to consider using ADP. You may choose to apply ADP instead Use RDP
RDP because there is some variation in the of RDP in this situation. This is a
« Ifan employee works variable hours, it may still Each calculation is a new and following the principles. use RDP
be possible and practicable to work out RDP eg sepa rate calculation Principles: ’
by looking at the reasons for the variation in the . You can use a special rate of RDP if there is
employee’s work patterns. » Don’t assume you can use a ‘set and forget’ approach * Actingood faith - don’t use ADP just one agreed in the employee’s employment
. . . to RDP and ADP or just do what you did the last time. because it may be lower than RDP in agreement, but only if it is at least equal to
To assess whether it is not posyable or practicable Just because it was impossible ar impracticable to e o] 0P CEiE L
to calculate RDP, an employee’s work pattern and determine the emplovee’s RDP or the emplovee’s
pay structure are the relevant factors to look at v in the pa eriF:)d\(/aried ona reviouspociasion * Be consistent - use the same option
(rather than the size or complexity of the employer’s e o B B the ituation sveny i for the employee each time you \.
workforce and payroll operation). ) Very 1 have the choice, if their situation
the employee goes on leave or holiday. Likewise, i3 e eEme
* In asituation where you know that an employee would just because you had a choice to use RDP or ADP on i
have done overtime if they had worked on the day, a previous occasion doesn’t mean you will have this  Be transparent - be prepared to
but you don’t know how much, you could still use choice on each occasion. explain your choice to the employee.
S%ZQ;:S?:;ABIE Y‘;u \foftli(:ndotﬁgltstiy aprxrﬁ)lelmg €9 « If there has been any variation in the employee’s work * Just because you can use ADP
uld have w rl? d stgai da € € employee pattern, you may need to reassess their situation. doesn’t mean you must. It may be
€0 € worked o Y- . ) that you can and do choose to use
* You may need to assess the employee’s situation and RDP In this situation
work pattern each time they take leave/holiday. \ ’ y

This information is guidance only, is not legally binding, and should not be substituted for legal advice or for the wording of the Holidays Act 2003. MBIE does not accept any responsibility or liability for error of fact, omission, interpretation or opinion that may be present,

nor for the consequences of any decisions based on this information.



